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1. The groundwater from a well discharging 400 L/min at 20 ’C is to be disinfected with free chlorine for a 99.9%
inactivation of viruses. Please calculate how many meter of 6-inch-diameter pipeline are needed to provide
the required contact time for inactivation with a free chlorine residual of 0.4 mg/L.. Assuming the C'7 for a
99.9% inactivation by free chlorine at 20 °C is 4 mg/L-min. (10 %)

2. The town of Miao-Li has a low turbidity raw water and is designing its overflow weir at a loading rate of 150
m’/d'm. If its plant flow rate is 0.5 m’/s. How many meters of weir are required? (10 %)

3. Bhe% — PSR A P 2MLSSA 3,000 mg/L > @ 4 sk AAERE RSB FEARRILEATH T
F# B30 min%g - ERIFIRAE EH 2 A400 mL 0 R LFWFTIRZSVIE? (10 %)

4, ¥ Tk 24 100 mg/lz glycine(CH,NH,COOH) » & Hib 5 e 4 > 33 B st k2 (a) ThOD (32
HEAE) OTOCH ?[C-H-N-~OxEFEFH&A12.0~ 1.0~ 14.0 ~ 16.0 g/mol] (10 %)

5. %A BAE A 200 Nm’/min © SRS % Latm > BAE 40C - £ ¥4 F R 1500 ppm, © KM B 4480
0 F RHE AT FZRAB AR EARIZE 100 ppm, BHEK - RS ERMATRXEZAHMA? (10 %)

6. K?L“F’ﬁ?% 10 um B4k ZHEES 100 ug/m’ » BE 2g/em’ > ZRMERE A 1.183 kg/m’ Frim R
2 23x10° N'sec/m” » MBS B HEFHF2EATHARE A2 (10 %)

7. KA TR I B ERARE —BERENASFARRZRZELR ] HEREIEEMAGLHEL
Ao B - (10 %) -

8. 473 B4t (solidification) & £ % 1t (stabilization) ? (10 %)
0. LA F M HAARA AT BA B E % o (10%)

10. Bt oAyl K ST B AT AT A e PR - BRI hodT ARk 2 (10 %)





